pp — 88,8 — bbx}

pp — 88,8 — tEX}

pp — 88,8 — qax;

Region H%‘iss Hrt Niet [GeV]  Npjet [GeV] mg = 1500 GeV mg = 1500 GeV mg = 1400 GeV
Mo = 100 GeV My = 100 GeV My = 100 GeV
1 >500 >500 >2 0 14.68 +£0.29 3.58 +0.09 284.4+3.1
2 >750 >1500 >3 0 5.15+0.16 1.07 +£0.04 88.9 +1.8
3 >500 >500 >5 0 9.75 £ 0.21 3.55 +0.09 2133 +2.7
4 >750 >1500 >5 0 3.74 +£0.13 1.06 +0.04 69.9 +1.5
5 >750 >1500 >9 0 0.28 +£0.03 0.59 +£0.03 5.83 +0.38
6 >500 >500 >2 >2 1375+ 1.6 55.81 +0.75 11.20+£0.23
7 >750 >750 >3 >1 93.8+1.3 30.14 +0.53 37.43 +0.62
8 >500 >500 >5 >3 52.78 +0.99 30.35 4+ 0.59 1.05+0.06
9 >750 >1500 >5 >2 40.20 - 0.85 17.99 £0.43 3.49 +0.13
10 >750 >750 >9 >3 2.69 +£0.22 8.97 £0.33 0.12 £0.02
11 >300 >300 >7 >1 82.6+1.1 96.32 +0.93 42.97 +0.66
12 >750 >750 >5 >1 714+1.1 30.09 4 0.53 30.67 + 0.56
‘ pp — 88,8 — bbxX, pp— 88,8 — ttX1 PP — 88,8 — qaX;
Region | Hy"s* Hr Niet [GeV]  Npjet [GeV] mg = 1000 GeV mg = 1200 GeV mg = 1000 GeV
Mo = 900 GeV Mo = 800 GeV Mo = 800 GeV
1 >500 >500 >2 0 46.29 +0.94 1.09 +£0.07 272.5+3.9
2 >750 >1500 >3 0 2.19 +£0.18 0.11 £0.02 18.79 £ 0.98
3 >500 >500 >5 0 18.40 £0.46 1.09 +£0.07 219.1 +3.5
4 >750 >1500 >5 0 1.49 +£0.12 0.11 £0.02 17.51 £0.94
5 >750 >1500 >9 0 0.15 +£0.03 0.10 £0.02 3.06 +0.34
6 >500 >500 >2 >2 138.7+1.9 15.47 £0.50 9.42 +0.26
7 >750 >750 >3 >1 63.1+13 3.62 +0.23 15.89 £0.52
8 >500 >500 >5 >3 34.77 £ 0.91 8.20 +£0.39 0.81 £0.05
9 >750 >1500 >5 >2 9.68 +0.47 2.50 4+0.20 0.94 4+ 0.08
10 >750 >750 >9 >3 1.10+£0.16 1.47 £0.16 0.07 £0.01
11 >300 >300 >7 >1 133.2+1.7 83.8+1.1 87.1+1.1
12 >750  >750 >5 >1 43.94+1.0 3.62 +0.23 14.07 £ 0.49



